1ES MURILLD

EXAM 1_4 (Polynomials)
1) Work out:
a. 2(x* - x?+2x-3)-(2x% +2x% -1)=
b. (x*+3x%—x?+5)-2x(x* -x?+2)=
c. (¥-2x)x*-x?+2x-1)=

2) Complete:

3) Factorise the following:
a. 3x°-18x%+27x =

b. 4x°-9=

c. mn® —10mn® +25mn =
d. 27y° -12y =

e) 5xy’ +40xy* +80xy =

4) Work out and simplify:
a. (x-3F-(x-1)(x+1)+12x-10=
b. 2(x -2 -3x(2x-3)-(1+2x)1-2x)=

x+1 2x-2 1-2x 1
C. - + —_——=
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Maths 3™ ESO
SOLUTION

1) Work out:
a 2P -x?+2x-3)-(@xP+2x?—1)=2x*—2x? +4x-6-2x7 —2x% +1=
=—4x*+4x-5

b. (x*+3x° —x2+5)-2x(x* —x?+2)=x* +3x° —x?+5-2x" +2x% —2x =
=-2x°+x*+5x> - x*-4x+5

c. (WP—ax)xt-x42x-1)=x"—x®+2x* - x*-2x7+2x3—4x? +2x =
x" -3x°+2x* + x* -4x% + 2x

2) Complete:
a. (1+2x)P =1+4x+4x?
b. 3x2+7)3x%-7)=9x*-49

c. W2-4f=x*-8x2+16

d. (X—§j(x+§j=x2 _2
3 3 9

3) Factorise the following:
a. 3x° —18x% +27x = 3x(x? —6x +9) = 3x(x —3)

b. 4x?-9=(2x-3)2x +3)
c. mn® —10mn? +25mn = mn(n? —10n +25) = mn(n - 5)°
d. 27y —12y =3y(9y% - 4)=3y(3y - 2)3y +2)

e. 5xy’ +40xy? +80xy =5xy(y? +8y +16)=5xy(y + 4)

4) Work out and simplify:

a. (x-3P-(x-1)(x+1)+12x-10=x% —6x+9—(x? -1)+12x-10 =
=x?-bx+9-x*+1+12x-10=6x

b.

2(x -2 —3x(2x -3)-(1+2x)1-2x)=2(x2 —4x+4)-6x2 +9x —(1- 4x7)=
=2x°-8x+8-6X°+9x-1+4x° =x+7

c X+1_2X—2+1—2X_i:12(X+1)_3(2X—2)+4(1—2X)_i:

2 8 6 12 24 24 24 24

:12X+12_6X—6+4—8X_i:12X+12—6X+6+4—8X—2 :10—X
24 24 24 24 24 12




